

$$= (٦ - أ٣) + (٥ - أ٤)$$

$$أ١١ -$$

$$أ٧ - ١١$$

$$أ٧ -$$

$$أ٧ - ١$$

المعكوس الجمعي ل ٥ س + ٦ هو :

$$٥ س - ٦$$

$$٥ س + ٦$$

$$٥ س - ٦$$

$$٥ س + ٦$$

$$= (٣ أ٢ + ب) - (٣ أ٢ - ب)$$

$$٢ ب -$$

$$٦ أ٢ - ب$$

$$٦ أ٢ - ٢ ب$$

$$٦ أ٢ + ٢ ب$$

$$٣ ص ع + ٣ ص ع + ٣ ص ع - ٣ ص ع$$

$$٣ ص ع -$$

$$٣ ص ع + ٣ ص ع$$

$$٣ ص ع$$

$$٣ ص ع + ٣ ص ع$$

ضع علامة (√) امام العبارة الصحيحة وعلامة (x) امام الخاطئة

ج	العبارة	ت
	$٨ - (٣ س٢ + ٤ س٨) = -٣ س٢ + ٤ س٨ - ٨$	١
	$٧ س٧ = ٥ س٣ + ٢ س٤$	٢
	$٧ ص٢ + ٢ ص١ = (٥ ص٢ + ٤ ص١) + (٢ ص٢ - ١ ص١)$	٣
	النظير الجمعي ل $-٣ ص٢$ هو $٣ ص٢$	٤